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1. Determine is each set of sequences is Arithmetic, Geometric or neither. If arithmetic, state the
value of d. If geometric, state the value of r.
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2. For each sequence, write a recursive formula, an explicit formula and a simplified explicit formula
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Find the first 4 terms of the following sequence that is defined recursively: a,, = (a“ (an-1)"
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Find the first four terms of the following sequence: a(n) = ———=, a(1) =4
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8. Given an arithmetic sequence where the 4" term is 8 and the 13" term is 53, find the 39t term.
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Given a geometric sequence where the 3" term is -32 and the 5" term is -512, find the 8t term.
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10. Find the number of terms in each sequence. {A- %&Lr« ‘ca /{}.-)
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